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B3 —2 FEMICERTHILBESNOERICETHEE (1/2) _ _ AEEE | ERI1T7TEE
2EROME | BMES | 020A0730 | B % | A [ el | —F B FERREEH
SERMO TiRICHEET S ZER A
i LEEOBHOBEENDAES T LEEOBIOBELNDRES LREOHRBSENDRES
&S X 4 Er%:n‘ci 'Fﬁﬁb\(‘z)(bﬁﬁ%’é jifﬁié X 4 ﬁﬁﬁzgﬂiw z,%r'n‘c)k jj(gigcf)é X 4 ;.g,r‘na)k J:ﬁﬁb\(‘:)a)tt% jj(ﬁ?tn:é)é E 4 J:ﬁﬁb\(‘:)d)tb% z.%r'na)k jj(ﬁ?tn:é)é
’ 100kN/mM%#BZ 5 -l -~ - -|3m%EiBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
ZFhst 1.00/0.00 ~ 4.45 55.49| #hLlst 1000 ~ 4.45] 1.98 10.58 Fhst 1.00] 5.00 ~ 5.15 55.49| ZhLl4 | 500 ~ 515| 1.98 10.58
) 100kN/m%# 2 % 1.00/0.00 ~ 0.35 105.16|3mE#BZ 5| - ~ - - -] 100kN/mM%Z#% % 1.00| 10.71 ~ 11.65 105.16|3mZ#BZ % -~ - - -
Fhst 1.00/0.35 ~ 8.13 100.00[ Zhust [ 000 ~ 8.13| 2.29 12.23 Fhst 1.00] 5.00 ~ 10.71 100.00f Zhlust | 500 ~ 11.65| 2.29 12.23
3 100kN/mM%BZ 5 -l -~ - -|3m%iBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
ZFhst 1.00/0.00 ~ 435 54.26] #hrlst 1000 ~ 4.35] 1.97 10.56 Fhst 1.00] 5.00 ~ 5.00 54.26| ¥hLlst | 500 ~ 500 1.97 10.56
4 100kN/mM%BZ 5 -l -~ - -|3m%EiBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
Fhst 1.00/0.00 ~ 229 30.87| #hLlst |0.00 ~ 229 251 13.41 Fhst 1.00] 5.00 ~ 5.00 30.87| #nklst | 500 ~ 500 2.51 13.41
5 100kN/ Mm% 2 % -l -~ - -|3m#%#2%|0.00 ~ 0.36] 3.88 20.76| 100kN/mM%#BZ% % - -~ - -|3m%#=x%| 500 ~ 550/ 3.88 20.76
zhst 1.00/0.00 ~ 1.26 5.12| #hiist |0.36 ~ 1.26] 3.00 16.05 Fhst 1.00] 5.00 ~ 550 5.12| #h4 | 500 ~ 5.00| 3.00 16.05
6 100kN/mM%#BZ 5 -l -~ - -|3m%iBZ5 -~ - - —-| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
Thst 1.00/0.00 ~ 477 59.42| #hils 1000 ~ 477 1.97 10.57 Thst 1.00] 500 ~ 5.60 59.42| #hils | 500 ~ 560 1.97 10.57
7 100kN/mM##BZ 5 -l -~ - -|3m%Ei#BZ 5 -~ - - —| 100kN/m%#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Thst 1.00/0.00 ~ 497 61.92] ZhbLlst |000 ~ 497| 1.84 9.84 Thst 1.00] 500 ~ 540 61.92| #hblst | 500 ~ 540| 1.84 9.84
8 100kN/mM##BZ 5 -l -~ - -|3m%Ei#BZ 5 -~ - - —| 100kN/m%#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Thst 1.00/0.00 ~ 3.46 43.88| #hLlst [ 000 ~ 3.46[ 2.21 11.84 Thst 1.00] 500 ~ 5.00 43.88| #nLlst | 500 ~ 500 2.21 11.84
9 100kN/mM%#BZ 5 -l -~ - -|3m%Ei#BZ 5 -~ - - —| 100kN/m%E#8% % - -~ - -|3m%E{BZ 3 -~ - - -
zh st -l -~ - -| #hilst -~ - - - zh st - -~ - -| Fhilst -~ - - -
10 100kN/mM##BZ 5 -l -~ - -|3m%Ei#BZ 3 -~ - - —| 100kN/m%E#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Thst 1.00/0.00 ~ 4.10 51.26] Zhls 1000 ~ 410 2.09 1117 Thst 1.00] 500 ~ 5.20 51.26] #hbkls | 500 ~ 520/ 2.09 1117
» 100kN/mM##BZ 5 -l -~ - -|3m%Ei#B2 5 -~ - - —| 100kN/m%#8% % - -~ - -|3m%E#BZ 3 -~ - - -
Thst 1.00/0.00 ~ 573 71.64] £helst 1000 ~ 0.00| 1.71 9.16 Thst 1.00] 500 ~ 6.40 71.64| #hilst | 500 ~ 6.40| 1.71 9.16
12 100kN/mM##BZ 5 -l -~ - -|3m%Ei#B2 5 -~ - - —| 100kN/m%#8% % - -~ - -|3m%E{BZ 3 -~ - - -
zh st -l -~ - -| Zhilst -~ - - - zhst - -~ - -| Fhilst -~ - - -
13 100kN/mM##BZ 5 -l -~ - -|3m%Ei#BZ 5 -~ - - —| 100kN/m%E#8% % - -~ - -|3m%E{BZ 3 -~ - - -
zh st -l -~ - -| #hilst -~ - - - zh st - -~ - -| Fhilst -~ - - -
1 100kN/ Mm% 25 -l -~ - -|3m%Ei#B2 5 -~ - - —| 100kN/m%E#8% % - -~ - -|3m%E{BZ 3 -~ - - -
zh st -l -~ - -| Zhiist -~ - - - zh st - -~ - -| Fhilst -~ - - -
15 100kN/mM##BZ 5 -l -~ - -|3m%Ei#BZ 5 -~ - - —| 100kN/m%#8% % - -~ - -|3m%E{BZ 3 -~ - - -
zh st 1.00/0.00 ~ 5.35 66.75| £hLls 1000 ~ 535] 1.97 10.57 zh st 1.00] 500 ~ 6.50 66.75| ThLls | 500 ~ 650 1.97 1057
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B3 —2 FEMICERATHILBESNOERICHYHEE 2/2) _ AEEE | ERI1T7TEE
2EROME | BMES | 020A0730 | B % | E3E [ el | —F B FERREEH
SERMO TiRICHEET S ZER A
i LEEOBHOBEENDAES T LEEOBIOBELNDRES LREOHRBSENDRES
R o | BT e | B2 | e | e | B2 | BT e | B2 | TR | | e
16 100kN/mM%#BZ 5 -l -~ - -|3m%EiBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
ZFhst 1.00/0.00 ~ 3.43 4354 ZhLlst (000 ~ 343 225 12.04 Fhst 1.00] 5.00 ~ 5.20 4354 Znklst | 500 ~ 520 2.25 12.04
100kN/mM%BZ % ~ ImEHBZRD ~ 100kN/mM%#8% % ~ 3ImEBAD ~
Fhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%BZ 5 ~ ImEHBZRD ~ 100kN/mM%#8% % ~ 3ImEBAD ~
ZFhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%BZ 5 ~ ImEHBZRD ~ 100kN/mM%#8% % ~ 3ImEBAD ~
Fhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%BZ 5 ~ ImEHBZRD ~ 100kN/mM%#8% % ~ 3ImEBAD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%#BZ 5 ~ ImEHBZAD ~ 100kN/mM%#8% % ~ 3ImEBAD ~
Zh st ~ zh st ~ zh st ~ FhLst ~
100kN/mM##BZ 5 ~ 3ImEHBRD ~ 100kN/m#%#8% % ~ 3mEHBZD ~
zh st ~ Zh st ~ zh st ~ zhLst ~
100kN/mM##BZ 5 ~ 3ImEHBRD ~ 100kN/ Mm% % % ~ 3mEHBZD ~
zh st ~ zhst ~ zh st ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEHBRD ~ 100kN/m#%#8 % % ~ 3mEHBZD ~
zh st ~ zh st ~ zh st ~ ZFhLst ~
100kN/mM##BZ 5 ~ 3ImEHBRD ~ 100kN/m%#8% % ~ 3mEHBZD ~
zh st ~ zh st ~ zh st ~ zhLst ~
100kN/mM##BZ 5 ~ 3ImEHBRD ~ 100kN/m%E#8 % % ~ 3mEHBZD ~
Zh st ~ zhst ~ zh st ~ zhLst ~
100kN/mM##BZ 5 ~ 3ImEHBRD ~ 100kN/m#%#8 % % ~ 3mEHBZD ~
zh st ~ Zh st ~ zhst ~ zhLst ~
100kN/mM##BZ 5 ~ ImEHBRD ~ 100kN/m#%#8 % % ~ 3mEHBZD ~
zh st ~ Zh st ~ zh st ~ zhLst ~
100kN/ Mm% 25 ~ ImEHBRD ~ 100kN/ Mm% % % ~ 3mEHBZD ~
zh st ~ zh st ~ zh st ~ ZFhLst ~
100kN/mM##BZ 5 ~ ImEHBRD ~ 100kN/m#%#8% % ~ 3ImEHBZD ~
zh st ~ zhst ~ zh st ~ ZFhst ~
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